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w-machine-independent (w;i;k;x)
=4et let Choose,Trans,Send = w-machine(w;i) in
Vs1, so:(x:Id—vartype(i;z)).
(Vz:Id. =z = & = s1(2) = 52(2))
= (Vu:w-kindtype(w.TA(7);w.M;i) (k).
(Vz:Id. =z = ¢ = Trans(k,v,s1,2) = Trans(k,v,s2,2))
& Send(k,v,s1) = Send(k,v,s2))
& (islocal(k) = Choose(act(k),s1) = Choose(act(k),s2))

clarification:

w-machine-independent (w;i;k;x)
=4et let Choose,Trans,Send = w-machine(w;i) in
Vs1:(z:Id—w-vartype(w; 4; x)), so:(z:Id—w-vartype(w; i; x)).
(VzId. =z =z € Id = s1(2) = s2(2) € w-vartype(w; i; z))
= (Vo:w-kindtype(w.TA(7);w.M;i) (k).
(Vz:Id. =z = © € Id = Trans(k,v,s1,2) = Trans(k,v,s2,2) € w-vartype(w; i; z))
& Send(k,v,s1) = Send(k,v,s2) € w-Msg(w) List)
& (islocal(k)
= Choose(act(k),s1) = Choose(act(k),s2) € w-kindtype(w.TA(i);w.M;i)(k)+Unit)
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